2
9. Whatis lim¥2X *2

x—== 4x +3

(A) % (B) ;::' (C) N2 (D) 1 (E) The limit does not exist.



3 2
{3, Wit fin —artl o9
x—== (3 =x)(3 + x)

(A) -9 (B) -3 (C) 1 (D) 3 (E) The limit does not exist.




2
- x° -6
What is lim 5 7

x—== 2 4+ x - 3x

(A) -3 (B) —x © ;3 (D) 2 (E) The limit does not exist.
- 3




8.

: (Vx+3—2
Iim

x—1 l1-x
(A) 0.5

(B) 0.25

(C) 0

(D) -0.25

(E) -0.5

|



1.

What is Iim

x—0

(A) -1

{2 i)

)

(B) O

) 1

(D) 2

(E) the limit does not exist






S —

Jx -1

15. Whatis lim ?
x—=1 x =1
(A) O
(B) 3
(C) 1
(D) 3

(E) The limit does not exist.



2 ;2

8. If k=0, then limn 3
x—k x° —kx
(A) O
(B) 2
(C) 2k
(D) 4k
(E) nonexistent



&

The function £ is defined on the interval [4, 4] and

its graph is shown to the right. Which of the
following statements are true?

L lim f(x) = -1

1§ lim f(2+h)“f(2) =
’ h—0 h

OL lim f(x) = f(-3)

2

(A) Ionly (B) II only (C) Tand II only (D) II and 111 only (E) I, II, I



If g(x) = x + cos x, then ,l’in}, 8(x + h})! = &%) =

(A) sinx + cos x
(B) sinx - cosx
(C) 1-sin x
(D) 1-cos x

(E) x* —sinx



3.

. (cos(x + h) - cos x)
Iim =
h—0 h

(A) sinx

(B) -sinx

(C) cosx

(D) -cosx

(E) does not exist




1 b _ 1)5
6. lim 3(5 * h) 3(2 =
h—0 h
(A) 0
(B) 1
© 12

(D) the limit does not exist
(E) the limit can not be determined



12 If the function fis differentiable at the point (a, f(a)), then which of the following are true?

o) i fla+h)—- fla)
L

. . fla)= fla-h)
II. f(a)-’l'% £

o fla+h)~ fla-h)
-0 2h

1. fla)=]

(A) Ionly
(B) Iand Il only

(C) 1and III only
(D) II and III only

(E) L II, III



